PROCEDURE:
1. Extend Outer Frame approximately 20", tipping the PowerMate back to rest on the rear handles and wheels. Note: Unit shown vertically for visibilty only.
2. Remove the 1/4"Nuts with a 7/16"socket (preferably deep socket or with extension), and ratchet wrench.
3. Remove the Carriage Bolts, Washers, and Rubber End Cap.
4. The replacement Rubber Guard comes with the components assembled finger tight. Remove the 1/4"Nuts and place the Rubber End Cap on the bottom of the outer frame, inserting the 1/4"Carriage Bolts in the holes in the outer frame. 
5. [bookmark: _GoBack]Assemble the (6)1/4"Nuts to the 1/4"Carriage Bolts and tighten with the 7/16"wrench.
